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Part A

* Answer all the questions.
Each quﬂstion carries 1 weightage.

What is the bas:s of charge of income from house property ?o
Who is called ‘Representative Assessee’ ? .
What is commuted value of pensmn ?

What are the provisions relating to prehmmary expenses ‘P |
What is meant by advance payment of tax ? D

What are the conditions for submlttmg rev1sed return 7
‘ ' (6 x 1 = 6 weightage)

Part B _
Answer.any e_ix of the following. . .
Each question carries 3 weightage.”

. Explain how residential status of an individual is determined.

Distinguish short-term capital gam from long-term capital gain.

What are the condltlons for clanmng deduction of remuneration of partners u/s40 (b) * ‘?

When and how tax is to be deducted at source from salary ?

Explain best judgement assessmeht. , _ _

SathyaPriya, who is not covered by the paymeﬁt of grlatuity'Act, 1972 retires 'on December 26,
2016, from Harithe Ltd. and receiv_ed. Rs. 5,00,000 as gratuity after.sei'vice e_f 36 years and
9 months. Her salary iiss 6,000 per xﬁonth up to June 30, 2016 and Rs. 7,000 per month from
July. 2016. Besmles she gets DA Rs. 1,000 per month (70 % of wh1ch is cons1dcred for service

~ benefits). Compute taxable gratulty
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13. A house was completed on April 1, 2016 and followmg mformataon is available about this’ house -

- ‘Mun1c1pa1 value Rs 30 000 p a.
_ . Fair rental Value Rs 32 000 p.a.
V‘ _ Actual rent Rs 40-000 p-a. "
Mumclpal taxes Rs 6,000 P a.
~ Let out penod 1 -4 -2016. to 31 12 2016 -
Self- occupled 1 1- 9017 onwards
Interest on loan for the period :
(a) 1- 4 2011 to 81-3-2016 Rs. 45, 000
s (b) 1~4 2016 to 31-3-2017 Rs. 15 000
| Calculate income from house property _
- 14, Calculate mcorne from other sources from the followmg |
(a) Rs. 2,50,000 invested in 12 % less-tax goyernment .securities.. -
(b} Rs. 2,50,000 invested in 12 %'tax free com_m_ercial_ securities‘. - h ‘.
o) RS.V:Z,_SO,OOO_ invested in 12 % less-tax commer_cial secuﬁtles. o

(@ Rs. 8,000 received as interest from less-tax commercial securities.
Part C

Answer any two of the following.
Each question carries 6 wetghtage

15 For the accountlng year ended 315t March 2017 Mr. Shashl furmshes the followmg partlculars of

his income. .
(1) Salary received in India Rs. 60,000.
(1) Profit from business in Germany but recelved in Indla Rs. 15, 000

(iii) Income from house property in Pak1stan depOS1ted in bank there Rs 12 000

(iv) .Proﬁt from busmess established in Bangladesh but business is controlled from Incha .

Rs. 46,000.
(v) Income accrued in India but received in Sweden Rs. 25, 000

(vi) - In this accounting year Mr. Shashi has brought 1nto India forelgn Income of earlier years
Rs. 42 700 '

(6 x 3 = 18 weightage)
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(vu) Proﬁt from sale of plant at Mumbal (50 % recelvecl in: Bankok) Rs:1 60 000.

(viii) Intereston J apan Development Bonds (60 % recewed in Ind1a) Rs 1, 00, 000 Compute his’

gross total income if :
~(a) Heis res:dent
{(b) Heis not ordmarlly reSIdent or |

{c) He is non res1dent

Mr. BhaskarRao, General Manager of Atul Products Ltd: at Bhopal [Popolatlon 15 lakhs] is in_
receipt of salary of Rs. 14,000 per. month. He is in occupation.: of anunfurnished house for which-
'the company pays a rent of Rs. 800 per month to landlord but.does not recover anythmg from Mr.

BhaskarRao The company also mamtams a RPF to which Mr. Rao contnbutes Rs. 21,000 per

' ' annum and the company contributes an equal amount. Interest credited to-the' Fund i is Rs. 9,500
{at the rate of 9 % per annum). Durmg the year. ended on 315t March 2017 Mr. Rao also has the

following incomes: _ .. . _
(i) - Rent a house (built in 1956) let out at Bs. 800 per month (Mun1c1pa1 Taxes Rs. 2, 100 per

annum).
(ii). Gross d1v1dends Rs. 3,000.
(ili) Bank mterest (on term depos1ts) Rs. 7, 000
(iv) Interest on debentures Rs. 6,000 .
(v) Interest on NSC VIII- issue (Acerued) Rs. 3,000
(vi) Donation given to Zila Saksharata Samiti Rs. 8,000.

He pays life insurance Premia of Rs. 4 ,000 a year on his own life, on a policy of Rs. 45,000. He
Inamtams a car for his ofﬁce and family use. Calculate his total income for the assessment

year 20 17-18. _
Mr. Singh, a resident of Indla, submits the following parfnculars of his income for the assessment
year 2017-18 : '

{a) Income from house let-out (computed) Rs. 9,500. g
(b) Profit from radio business Rs. 19,600. '

(c) Profit from El_ectric business Rs. 1,800.

(d) Speculation income Rs. 1,900.

(e) | Short-term capital gains Rs. 3,200.

H Long-terrn capltal gains Rs. 8,250.

The following items have been brought forward from preceding assessment year:
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(_i) - Lioss from cycle busmess dlscontmued dur1ng 2015-16 Rs 3 900.~
(i) -Loss from elec tric business'Rs. 2, ;700" o o
(3ii) Loss from radio business Rs. 1 900.
(i) 'Unabsorbed deprec1at10n of electric busmess Rs 1 000 ‘_
(v) Unabsorbed famﬂy planmng expend1ture Rs 2 600
- {v1) | Speculatlon loss Rs. 8,200. o
(vii) ) Short~term cap1tal Ioss from the year 2013 14 Rs 4 100‘.' SR
| \vm) :".Loncr-term capltal Ioss from the year 2014 15 Rs 6 450._ | _
: You are requlred to compute hlS gross total income and-deal W1th the carry. forward of losses.

.}

(2 x 6 12 welghtage}'




